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Mild
@ 6+6=

b)7 +6=
AQ8+8=
d)8+9=
e)5p +5p + 1p =
Ha-3=
P15-4=
h)22-5=

047 -4 =

) Jim has six 2p coins in his pocket.
How much money does he have
altogether?

Spicy
D12+12=

b) 23 + 24 =

50 +52 =
d)34+35=

) 10p + 10p + 20p + 5p =
N £1.20 - 15p =
931-7=

h45-8 =

03x5=

) Liam has three £5 notes and two £10
notes in his wallet. How much money
does he have altogether?

Hot
@ 25+26=

b)37 +37 =
A81+81=
dD21+7+3+19=

@) £2+ £1+50p + 2p + £5 =

100- 15 =
9300-11 =
hN7x5=
03x6=

) Rachel bought 6 cakes. If each cake cost
£4, how much did Rachel spend?




